


(1)  1 hr.

(2) 1 hrs. 12 min.

(3) 1 hr. 15min

(4) 1hr. 20min.

Walking at 6/7th of his usual speed , a man is 12 minutes late. The 

usual

time taken by him to cover that distance is

अपनी सामान्य गति के 6/7 से चलने पर, एकआदमी 12 तमनट देर से पहुंचिा

है। सामान्य गति से उस दूरी को िय करने के तलए उसके द्वारा तलया गया

समय है



(1) 17
𝟔

𝟕
km/hr.

(2) 25 km/hr.

(3) 35 km/hr.

(4) 30 km/hr.

A car travelling at 5/7 of its actual speed covers 42 km in 1 hour 40 

minutes. 48 second. Find the actual speed of the car?

5/7 की वास्ततवक गति से यात्रा करने वाली कार 1 घुंटे 40 तमनट 48 सेकुं ड में

42 तकमी की दूरी िय करिी है । कार की वास्ततवक गति ज्ञाि कीतिये?



(1) 9

(2) 10

(3) 12

(4) 20

Excluding stoppage, the speed of a bus is 54kms/hr and including  

stoppage, it is 45 kms /hr. For how many minutes does the bus stop per 

hour.?

ठहराव को छोड़कर, एक बस की गति 54 तक.मी. / घुंटा और ठहराव को लेकर यह

गति 45 तक.मी. / घुंटा है। तकिने तमनट प्रति घुंटे में बस रुकिी है ।?



(1) 20 min.

(2) 30 min.

(3) 21 min.

(4) 23 min.

Without any stoppage a person travels a certain distance at an average 

speed of 42 km/hr. and with stoppage he covers the same  distance at an 

average speed of 28km/hr. How many minutes per hour  does he stop?

तकसी भी ठहराव के तबना एक व्यक्ति एक तनतिि दूरी पर यात्रा करिा है 42 तकमी

/ घुंटा की औसि गति। और ठहराव के साथ वह उसी को कवर करिा है 28 तकमी

/ घुंटा की औसि गति से दूरी कवर करिा है । वह तकिने तमनट प्रति घुंटे रूकिा

है।



(1) 4:30 pm

(2) 4:45 pm

(3) 5 pm

(4) 5:15 pm

A thief steals a car at 2:30pm and drives it at 60km/hr. The theft is  

discovered at 3pm. and the owner sets off in another car at 75 km/hr to 

catch the thief. When will he overtake the thief ?

एक चोर दोपहर 2:30 बिे एक कार चुरािा है और इसे 60 तकमी / घुंटा पर

चलािा है। चोरी का पिा दोपहर 3 बिे लगा, और मातलक दूसरी कार में 75 

तकमी / घुंटा की चाल से चोर का पीछा करिा है। वह कब चोर से आगे तनकल

िाएगा?



(1) 14 km

(2) 15 km

(3) 16 km

(4) 17 km

A farmer travelled a distance of only 61 km. in 9 hours. He travelled partly on foot at 

4 km per hour and partly on bicycle at 9 kms /hr. The distance travelled on foot is-

एक तकसान ने केवल 61 तकमी की दूरी िय की। 9 घुंटे में। उन्ोुंने आुंतिकरूप से यात्रा की

पैदल 4 तकमी प्रति घुंटा औरआुंतिकरूप से 9 तकलोमीटर / घुंटा साइतकल पर। पैदल यात्रा की

दूरी है-



(1) 61.6 km/hr

(2) (2) 62.8 km/hr

(3) 63.6 km/hr

(4) 64.6 km/hr

A man covers a certain distance by car driving at 70 km/hr and he 

returns to the starting point riding on a scooter at 55 km/hr. Find his 

average speed for the whole journey.

एकआदमी 70 तकमी / घुंटा की रफ्तार से कार चलाकर एक तनतिि दूरी िय

करिा है 55 तकमी / घुंटा पर एक सू्कटर पर सवारी करके िुरुआिी तबुंदु पर

लौटिा है। पूरी यात्रा के तलए औसि गति है ।



(1) 35.55 km/hr. 

(2) 36 km/hr.

(3) 71.11 km/hr.

(4) 71 km/hr

A man on tour travels first 160 kms at 64 km/hr and the next 160 km  at 80 

kms/hr. The average for the first 320 kms of the tour is 

दौरे पर िाने वाला व्यक्ति पहले 160 तकलोमीटर की दूरी 64 तकमी / घुंटा और

अगले 160 तकलोमीटर की यात्रा 80 तकलोमीटर / घुंटा पर करिा है िो 320 तकमी

के औसि चालक्या है।



(1) 12 km

(2) 14 km

(3) 16 km

(4) 18 km

Two men A and B walk from P to Q, a distance of 21 km, at 3 and 

4 kms an

hour respectively. B reaches Q, returns immediately and meets A 

at  R. Find the distance from P to R.

दो पुरुष A और B, P से Q िक, िो 21 तकमी की दूरी पर हैं , 3 और 4 

तकलोमीटर प्रति घुंटे की चाल से चलिे हैं क्रमिः B, Q पर पहुंचिा है, 

िुरुंि लौटिा है और A से तमलिा R पर है P से R िक की दूरी ज्ञाि

कीतिए।



In a flight of 600 km, an aircraft was slowed down due to bad 

weather. Its average speed for the trip was reduced by 200 

km/hr and the time of flight increased by 30 minutes. The 

duration of the flight is: 

600 किमी िी उड़ान में एि विम़ान खऱाब मौसम िे ि़ारण धीम़ा हो गय़ा। 

य़ात्ऱा िे विए इसिी औसत गवत 200 किमी/घंट़ा िम िर दी गई और उड़ान िे 

समय में 30 वमनट िी िृवि िी गई। उड़ान िी अिवध ह:ै

A)2hrs B) 1hr 30min C) 2hrs 15min D) 1hr 



Two friends Ram and Ravi are travelling from point A to B, which are 

600km apart. Travelling at a certain speed Ram takes 1hr more than Ravi 

to reach point B. If Ram doubles his speed he will take 1hr 30mins less 

than ravi to reach point B. At what speed

was Ram driving from point A to B?

रवि बबंद ुA से B ति य़ात्ऱा िर रह ेहैं, जो 600 किमी दरू हैं। एि वनवित गवत से य़ात्ऱा िरते 

हुए ऱाम िो बबंद ुB ति पहुुँचने में रवि से 1 घंट़ा अवधि समय िगत़ा ह।ै यकद ऱाम अपनी गवत 

िो दोगुऩा िर दते़ा ह ैतो िह बबंद ुB ति पहुुँचने में रवि से 1 घंट़ा 30 वमनट िम समय िेग़ा। 

किस गवत से

A) 150km/hr B) 120km/hr C) 80km/hr D) 45km/hr



After travelling two hours a train met with 

an accident due to this it stops for an 

hour. After this the train moves at 

66(2/3)% speed of its original speed and 

reaches to destination 3hour late. If the 

accident would occur at 200km ahead in 

the same line then the train reaches only 

2.5hours late. Then find the distance of 

journey and the original speed of the 

train?

दो घंटे ि़ा सफर तय िरने िे ब़ाद एि टे्रन ि़ा

एक्सीडेंट हो गय़ा इस िजह से िह एि घंटे िे विए 

रुिती ह।ै इसिे ब़ाद टे्रन अपनी मूि गवत िी

66(2/3)% गवत से चिती ह ैऔर 3 घंटे दरेी से

गंतव्य पर पहुचंती ह।ै यकद दघुघटऩा उसी ि़ाइन में 



A man covers a distance in four equal parts. He covers first part with 

speed of 60 kmph, second part with 80 kmph and third part and fourth 

part with 120 kmph and 80 kmph respectively. Find the average speed of 

his journey.

एि आदमी च़ार बऱाबर भ़ागों में दरूी तय िरत़ा ह।ै िह पहिे भ़ाग िो 60 किमी प्रवत घंटे 

िी गवत से, दसूरे भ़ाग िो 80 किमी प्रवत घंटे िी गवत से और तीसरे भ़ाग िो 120 किमी 

प्रवत घंटे और 80 किमी प्रवत घंटे िी गवत से तय िरत़ा ह।ै उसिी य़ात्ऱा िी औसत गवत ज्ञ़ात 

िीवजए

A) 60 kmph B) 80 kmph C) 120 kmph D) 100 kmph E) None of these



(1)  35

(2) 36
𝟐

𝟑

(3)  37
𝟏

𝟐

(4)  40

A man covered a certain distance at some speed. If he had moved 3 km/

hr. faster, he would have taken40 minutes less. If he had moved 2 

km/hr. slower, he would have taken 40 mins more. The distance (in 

kms ) is

एकआदमी ने कुछ दूरी एक तनतिि गति पर िय की। यतद वह 3 तक.मी. घुंटा

िेिी से चले, िो वह 40 तमनट कम समय लेगा। यतद वह 2 तकमी/घुंटा की चाल

कम कर दें। िो वह 40 तमनट अतिक समय लेगा दूरी (तकलोमीटर में) है



(1) 20 km, 15km/h

(2) 30 km, 14 km/h

(3) 50 km, 12km/h

(4) Can't be determined

A man covers a certain distance on scooter. Had he travelled 3 kmph  

faster, he would have taken 50 minutes less. If he had moved  2 kmph 

slower, he would have taken 50 minutes more. Find the distance (in 

km) and original speed.

एकआदमी सू्कटर पर एक तनतिि दूरी िय करिा है। अगर वह 3 तकमी प्रति

घुंटे की िेिी से यात्रा करे िो उसे 50 तमनट कम समय लगेगा । अगर वह 2 

तकमी प्रति घुंटा िीमी गति से, चले िो 50 तमनट अतिक लगेगें । दूरी ज्ञाि

कीतिए (तकमी में) और मूल गति।



(1) 600 mtr. 

(2) 500 mtr.

(3) 400 mtr. 

(4) 300 mtr.

A thief runs at a speed of 10m/s. A Policeman runs behind him at a 

speed of 12.5m/sec but after 10 seconds the Policeman had started  

running. After how many meters , will the Policeman catch the thief?

एक चोर 10 मी / सेकुं ड की रफ्तार से दौड़िा है। एक पुतलस वाला उसके पीछे

दौड़िा है 12.5 मीटर / सेकुं ड की गति लेतकन 10 सेकुं ड के बाद पुतलसकमी ने

दौड़ना िुरू तकया था। तकिने मीटर के बाद, पुतलसकमी चोर को पकड़

पाएगा?



(1)𝟒𝟕
𝟏𝟑

𝟐𝟓
km

(2) 45
𝟏𝟑

𝟐𝟓
𝐤𝐦

(3) 42
𝟏𝟑

𝟐𝟓
𝐤𝐦

(4)𝟒
𝟐𝟓

𝟏𝟑
𝐤𝐦

Two guns were fired from the same place at an interval of 13 minutes but 

a person in a train approaching the place hears the second firing 12 

minutes 30 seconds after the first. Find the speed of the train, supposing 

that  sound travels at 330 meters per second.

13 तमनट के अुंिराल पर दो बुंदूकें एक ही िगह से दागी गईुं लेतकन एक टर ेन में

एकव्यक्ति तिस िगह पर पहुँचिा है वह दूसरी फायररुंग 12 सेकुं ड 30 सेकुं ड

बाद सुनिा है। टर ेन की गति ज्ञाि कीतिए, मान लीतिए तक ध्वतन 330 मीटर प्रति

सेकुं ड की यात्रा करिी है।


